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SCHOLARS ACADEMY

[ General Knowledge }

1. weren M fra af gféor snpte @ yRa e

In which year did Mahatma Gandhi return to India from
South Africa?

(8) 1915%.1915AD
(c) 1916%.1916 AD

(b) 1917%.1917 AD
(d) 1918%.1918 AD

2. AHEd B fSHTE B aTe IRGPR B UT?

Who was the architect who designed the Taj Mahal?

(a) HIEHIE §I Mohammed  (b) IITG 3EHE AERY Ustad

Hussain Ahmad Lahori

(c) Q’ﬂ?_g'Q'ITShahaisha (d) SIS Ismail

3. faear $ MR Aeht &1 FuTd fFad grRT fHar T
qr?
The Gandhara style of painting was initiated by

(@ gFWI'IT-IHinayana (b) HeTITH IBIQRI Mahayana
Sect

(c) UG YIS Vaishnavism (d) A9 I Shaivism

4. YR IRy F fra urr & el & difes
SR &1 I fFar mar 82
In which part of the Indian Constitution, fundamental rights
of citizens are mentioned?
(&) HTT-IV Part IV

(c) HIT-Il Part-II

5. ﬁaﬁ?aﬁﬁaﬁﬂmﬁﬁmﬁmﬂﬁﬁr$
o™ U?
(i) . MUTATETHY SRR
(ii) STATER AT A&
(iii) SITATE! PEOMEATHT AR
(iv) IRER Ued
i f3T T He &1 YT Fd T T SR BT 99T

(b) HIT-V Part-v
(d) YTT-IIl Part-1il

Who among the following were members of the drafting
committee of the Indian Constitution?

(i) N. Gopalaswami lyengar

(ii) Jawaharlal Nehru

(i) Alladi Krishnaswamy lyer

(iv) Sardar Patel

Select the correct answer using the codes given below:

(2) I (i) (ii) 3R (iv) () (i) (b) Pa (i) 3R (iii) (1) and (iii)

and (iv) only only

(c) Haa (i) 3R (i) () and (i) (d) Pa (ii), (iii) 3R (1), (i)

only only and

6. forelt 3o &1 uyH fAfYy st S g @2

Who is the first law officer of a state?

(@) HETITIAIG! Attorney (b) TG Advocate

General General
(c) TMCIRICR SR Solicitor  (d) Tafer faymT &1 Hg™fa
General General secretary of law

department

(@)
(©

(@)
(©)

(@)
©

10.
(@)

©

11.

(@)

(©)

12.
(@)
(©)

13.

(@)
(©)

14.

(@)
(©

15.

(@)
(©)

UYH UgquTg a1 ford o R g%2

In which year did the first five year plan begin?
¥ 1951-52 Year 1951-52  (b) Y 1956-57 Year 1956-57
¥ 1961-62 Year 1961-62  (d) Y 1966-67 Year 1966-67

IR AR & agEy gl & F 59 um +1 frfiea
F19Y & A & T ST @2

Which part of the Lakshadweep islands of the Arabian Sea
is known as the Minicoy Islands?

JTRI Northern (b) U:Q‘TEastern
Sf&mf southern (d) TfgHt western

YR H ITS P TUT ST A AT T 4T?
Where was the rubber plant brought to India?

HA™T Malay (b) STSild Brazil
aﬁWVenezuela (d) E'UEﬁelﬁTQT Indonesia
H?l"ﬂ'l'cﬁ (Death Valley) WWWW%—

Death valley is known for what-

3fUH BUS Very cold (b) 3P JWIAT Scorching
heat

ST TeXTs Abnormal (d) Y TAUIA Excessive

depth salinity

frafafEa # @ #i dfumw swr g

Which of the following is an Extra Constitutional or Non
Constitutional body ?

Y T a1 3T Union  (b)  aT SIRANT Finance
Public Service Commission Commission

i 3TN Policy (d) TG 3TRANT Election
Commission (NITI Aayog) commission

T TN 5 gede & siaia wifia fear man 82
Under which article is the Election Commission operates ?
3T&G-355 Article-355  (b) 3fJ®G-256 Article-256
3TWG-324 Article-324  (d) 3J®G-320 Article 320
forar =arararal & <arndi=n @t Fgfe feads grr @t
STt 82

The judges of the district courts are appointed by-
RTSTUT Governor (b) 'ﬁ'@ﬂ_?ﬁ Chief Minister
fafd Tt Law minister (d) TIE'CIﬁf President

Tdd HIRd &1 YA 3R ifd $t gvon o9 31 18
A-

When was the first industrial policy of independent India
announced?

1957 H In 1957
1950 Hin 1950

(b) 1948 T In 1948
(d) 1956 H In 1956

fra yddia wa &) gagsT &1 T Fad 82

Which hill station is called the queen of Satpura?
ti?rFlT‘,ﬁ Pachmarhi (b) Fafi Nilgiri
Ilgi R Mahendragiri (d) None of these ﬁﬁﬁﬂ'ﬁg
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16.

@
(©

17.

@)
©

18.

@
(©

19.

@

©

20.

@

©

21.

@
(©

22.

@
(©

23.

@

(©

fFrafafaa 8 @ f5a 3 3 3 spe adt 9gdi 82
From which of the following countries does the Amazon
River flow?

I Paraguay (b) fereft chile
TSI Brazil (d) 3fS{feAT Argentina
SR # 39 AR &1 41 A1 7, SI81 Il 3R

HETHRA & RA TR 2

What is the name of the temple in Indonesia, where
pictures of Ramayana and Mahabharata are scripted ?

aﬁw Borobudur (b) FHAYATY Kailashnath
SNTHRATC Angkor Wat (d) m Brihadishwara
RRATE HT HBERT (Tomb) FET (U 82

Where is Sher Shah's Tomb located?

HRRTH Sasaram (b) Tacelt Delhi

CAINSH Kalinjar (d) AR Sonargaon
e Mh F Aga A fEwm wnm owym W=
STTRTPI) UT-

The first mass movement(national) under the leadership of
Mahatma Gandhi was-

SN TG Non- (b) TTH® 3G salt
Cooperation Movement movement

URA SISl dfigiadd quit  (d) Id 3ATGIa Indigo

India Movement movement

YRd &1 YT Har RS &1 gaeiiiad s & forg

o 3feua ARrsdt o Siftded ond &t =TT @Y
-

To revive the ancient art traditions of India, an Indian
Society of Oriental Art was established by-

ATy TR A (b) ST S 7 Nandlal Bose
Avanindranath Tagore

HRYTPAR AR A (d) 3ATRATA A Amrita
Asitkumar Haldhar Shergill

P13 afea ferdt safed & SO yv-duera ar wirfa 9
TSI g FY R

No person should ask a person about his religion or caste.
This statement is of

FHER B Kabir (b) MG BT Ramananda
RTHTIS DT Ramanuja's (d) %ﬂﬂﬁchaitanya
Tl Bt ITeuT wel A

Where was the capital of the Chalukyas?

qraTdl vatapi (b) YT Shravasti

Hidl Kanchi (d) Pt Kannauj

YRy wfau ¥ 9 sgwe & JuH O ud
fRr-31ew faftre Temaar w1 UEYE 32

Which article of the Indian Constitution has the provision of
equal justice and free legal aid?

3[T&G-30 Article -30 (b) 3FTEG-39(F) Article -39
(a)
3T&G-25 Article-25 (d) SFTEe-33() Article-33

24.

(@)

(©

25.

(@)
(©

26.

(@)
©

27.

(@)
(©

28.

(@)
(©)

29.

(@)
(©)

30.

(@)

(©

31.

(@)

(b)
g & Q F9-91 uara Ty goie A IiE g2

Which of the following proposals is related to the federal
budget?
R UXAIT Adjournment
Motion

FHeldl URATd Cut moton

(b) a1 R4 Censure

Motion

(d) ITFIH A DTS I8! None
of the above

Aradl Yaadfa gie=T |1, 1990 # GUTE §% At Smadt

Taadiy T $9 SRY §5?

The Seventh Five Year Plan ended in March 1990, when was

the Eighth Five Year Plan started?

&Fa?f, 1990 April 1990 (b) W, 1991 January 1991
ﬁRﬁR, 1991 September (d) &ra?«r, 1992 April 1992

1991

< Ugd aR Tl any far wm

Where was VAT first implemented?

\_rlﬁ:ﬁGermany (b) T spain

I France (d) =Y Russia

it 3R ok Fafafaa & 3§ feaer qRfga
Y 3?

Sariska and Ranthambore are safe places of which of the
following?

3% Lion (b) fRUT Deer
dTY Tiger (d) HYIc] Bear
Y W ¥ AR R PRI RIS S &

Where are the days and nights equal throughout the year.
I ¢d North Pole (b) afamoft ¢d South pole
“—Emm Equator (d) P! -] No where
g o A fFa 319 (Expenditure) TR $R T T GG
feam
Who among the following has suggested tax on
expenditure?

SlecH Dalton (b) PGSR Kaldor
TRFIE Musgrave (d) ﬁanmg? Gautham
Mathur

fFafafaa & @ o9 @ $ ufsar vafazor deor &
TS 2
Which of the following agricultural processes is helpful in
environmental protection?
¥ IuS arelt fb Db (b) Eﬁﬂ’]’s’ (Glass House) T
K| High yielding q?ﬁ 3T Growing Plants
cultivation in Glass House
RIMARd H shifting (d) 3% H organic
cultivation farming
RIS & T P FT Hed 82
The study of population called-

AFRA Hal Cartography  (b) qHa fagE Anthropology
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(©

32.

@
(©

33.

@
(©

34.

@
©

35.

@

©

36.

@

©

37.

@

(©

38.

@
(©

39.

@

SHgiRST®T Demography  (d) STaH life
fFrafafa 79 fFa divagg @ Mo dlusgramar 2|

Which of the following islands is called "Sheep Island"-

aﬂT\ﬁﬁqCanary Islands  (b) TERT GIT Madeira Island
BRI §1Y Faroe Islands (d) afeiesT wellinton

<P BRE (Black Forest) W&H@_{ﬁ@ﬁ %?

Where is the Black Forest mountain located?

i In France (b) SHF H In Germany
ﬂ%ﬁ In Ukraine (d) =TT In russia
AT T )2

What is Panchayatana?

UTH-JHT Village assembly  (b) THREH Memorial

TR oo Aeft Temple (d) IOTERAR B B RY THg
building style Official group in court
TiR-fAf | M e &1 fAato e wmae gr fear

™I YT?
Which ruler was constructed the Gol Gumbaz by marmar-

vidhi?

PAIEH WP Qutbuddin  (b) TeWIG sfeaee facda
Aibak Muhammad Adilshah Il
fORIST 217G Feroze Shah (d) #8H& Tdf Mahmud

Gawan

Y 1938 & WRAHT IE HIUT & TR ifera=rT A
remerar foa ot diz

The Haripura Session (1938) of Indian National
Congress(INC) presided over by whom?

YA HAH MG Abul  (b) . ST U J. B.

kalam azad Kripalani

JToI% TRTG Rajendra (d) gﬂ-rrsra's:a‘m Subhash
Prasad Chandra Bose

YR fper wd efifaea SR (fri) g0 &7 4T
HW&[% ﬁ'ﬂﬁﬁﬂ'ﬂ T %I Who has been appointed
as the new chairman of Film and Television Institute of
India (FTIl) Pune.

SIYCHT GRTT (b) XISTHHR TG Rajkumar
Ayushmann Khurrana Rao

I Y& Sonu Sood (d) SIRHIYTT R Madhavan
T1d g1 ¥ fhy vs9 & gt 9 &) WaaR 3t PR

Hod fer & awor Fi g2 Recently, the Chief Minister of

which state has announced every Tuesday as ' Car Free Day
"

HERIY Maharashtra (b) givamon Haryana

ST Rajasthan (@ Ttan

B4 8 d Wia@idgl 3 f&a 3= F 3000 W@ WA
EﬁTﬁ"ﬁ @ B PT Ul ST %? In which country have
archaeologists recently discovered the tomb of 3000-year-
old priests?

U Greece (b) U Peru

(©)

40.

(@)
(©)

41.
(@)

(©)

42.

(@)
©

43.

(@)
(©)

44.

(@)
(©

45.

f%9dS Finland (d) aﬂgﬁnone

Frew HfEa F6 b o vy Frim ok deel
?ﬁ?wﬁﬁr{{wﬁmwév Who has been appointed

as the interim Managing Director and CEO of Kotak
Mahindra Bank?

ITT HIeH Uday Kotak
W‘I‘fﬂ Deepak Gupta

(b) TR RIT Yashasvi Sinha
(d) NSIG] HYR Rajiv Kapoor

§¥S FY 2023 BT e1ged fd 1 A Sfd1? Which team

won the title of Durand Cup 2023?

S ST East Bengal (b) HerTST Tt

Mohammedan SC
PR SIRCY Kerala (d) TS I YR SEe
Blasters

Mohun Bagan Super Giant
BT 8 A gd v fbder gy Wi &1 fAe= 8
g% fpu a'QT ¥ 1171‘ fppex &2 Recently, former legendary

cricketer Heath Streak passed away, he was a former
cricketer of which country?

&7 Kenya (b) GI&(UT 3TRIDT South Africa
s'lé's England (d) fSPaTsd Zimbabwe

UPI 3 URA H fhae Ud & ATRI® A-TeT &1 AfagTias
TS g @2

UPI has created a historical record of monthly transactions
worth how many rupees in India?

10 fafera= 10 billion (b) 8 Tafera 8 billion
9 fafera™ 9 billion (d) 18 faferam 18 billion

B9 8 ® URA ¥ {59 I 3t A B S FIH I
31”3% 5s ﬁ%mzouﬁaﬂm%m%? Which country

's team has recently qualified for the FIH Men 's Hockey 5s
World Cup 2024 by defeating India?

YIS Thailand (b) SIUI Japan
UTfd&d Pakistan (d) gutal

311 81 § G SATUR 31 Ffa F g sierfgia feaw oa
T T 82

When was the International Day of Trade Commemoration
celebrated ?

(&) 203 (b) 21 AT
20 august 21 august
(c) 22 3 (d) 23 3T
22 august 23 august

46.

(@)
(©

47.

(@)

gTd 81 # fPH csr TIMES AgWeTsH Srflade ars d
gwfaa foear wan %? Who has recently been honored

with the CSR TIMES Lifetime Achievement Award ?
SIU® YR Deepak Dhar (b) ¥ Qﬁri—ciﬂshalujindal
WR PN Shekhar Kapur  (d) aﬂéﬂ%ﬁ none
drifiea A fr sron st TavTe g fear 32

Who has been appointed by BPCL as its brand ambassador ?

T@ﬁ?{ﬁgmhul Dravid (b) RMe¥W Wl Shahrukh
Khan
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(c) FUaca Kapil Dev

48.

(2) WA IE-3M-T Prayut

(d) &I PHR Akshay Kumar
YIEds & ¢ UEA F w9 H fHRA AT T 82 Who

has been elected as the new Prime Minister of Thailand ?

(b) T UTfARAA shretha

Chan-0-Cha Thavisin
(c) RiTa® RFEEET Yingluck  (d) 3TH Y HIs 7181 none of
Shinawatra these

49.

HERTY & gl o1y g 3 4o # Tdie Yad
A BT A0 IGAd) [PaP AW W I@A T TG
o frar 82

Maharashtra Chief Minister Eknath Shinde has passed a
resolution to rename the Churchgate railway station in
Mumbai after whom?

(a) IS CRME CD Deshmukh (b) ST IMHTIIE Benegal

() Y ygrErie. c.

50.

Rama Rao

(d) P AR Rigor.

Manmohan Singh

719 g § 91 wele Toas & uael ok Wigseh & U
o frd Frgaa frar man @2

Who has been appointed as the MD & CEO of Bombay Stock
Exchange recently?

Bhattacharya

(a) é‘mm@ Isha Karavade (b) AT Tania

Sachdev
(c) SUracel BRI Dronavalli  (d) FaxRuH
Harika Sundararaman
Ramamurthy

51.

(@ 1,Iv

(©

[ Reasoning }

Frafafea vy & @ snefa A we ded R mar 2
o A 3R 8 & wu # Rifgd & wm g &1 AT {1
arpfa ® TR et 1, u, m 3R v RE e &1 39 fawe
BT TG B Forad wH: A 3R B T BT F Tt 9
Tmfere i

In the following question, a figure is given having a pattern
whose two portions marked as A and B are missing. Below
the figure, four patterns I, Il, lll and IV are given. Select the
option which contains correct patterns fitting A and B
respectively.

(A)

(B)

(b) 1,11
VAT (d) 1, v

52.

(@)
(©)

53.

(@)
(©

54.

FAAT H, p, W 2/3 TAT ST B 3R q, R | 4/5 AT TST
21 3@ ¥ 3 a9 91 P 3R Q B 3T BT TN 3 T4 Ugd p
ARRBP I FATF A I P, RY__ TU BT

At present, P is 2/3 times as old as Q who is 4/5 times as old
as R. Sum of ages of P and Q 3 years from now is same as
the sum of ages of P and R 3 years ago. P is __ years
younger to R.

28 (b) 32

24 (d) 42

o9 gUUT Bt - g7 T SAR MN TR 4T &I &, df
fou e wae ot wEt g wfafde 1 9= SR

Select the correct mirror image of the given combination
when the mirror is placed at MN as shown below.

Deg4{Z}

M {n}bped
an {S}pp2d
"{S}<¢620d

[ (b) 1
WY (d) 1

fFrafafed uy ¥, v TR & S8 Bad § - 11, 22, 33, 44,
55 3R 661 TP & U &1 &1 fRufoat & 7€ &1 was 11
& faudta was wFTERM?

In the following question, a dice has six faces - 11, 22, 33,
44, 55 and 66. Two positions of the same dice are given.
What will be on the face opposite to the face 11?

am {S}pped

(@ 22 (b) 33
(c) 44 (d) 55
55. 39 fawed 3T a0 ® Wl Ug g &! gxifar & R ug

gwﬁaﬁwﬁwﬁaﬁﬁﬁqwmw
[

84:80

Select the option which shows the term pair in which the
terms are related to each other in the same way as that in
the term pair given below.

84:80
(@) 76:72 (b) 52:48
(c) 92:78 (d) 65:61

56.

faT T e &1 WFYd® rtaae Y SR IH YW1 BT
TG B3 o 39H Uy g (2) B ufawnfya s 9|
Study the given pattern carefully and select the number
that can replace the question mark (?) in it.

23|18 |40
39 |11]132
2719 |7
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(@ 73 (b) 81
(c) 96 (d) 85

57. I ATPfd BT g4 B ot Fafa@d snpfa gaar o
ST ST |

Select the figure that will come next in the following figure

i i
1 [ 0 2
(@ | ) 1
() m (d) v
58. fau T gl w1 Tgfera w3 F e fora S Gemait
3R 3 gl B TR gear o gHdr g2

27+3+13-9x5=1

Which two numbers and two signs can be interchanged so
as to balance the given equation?

27+3+13-9x5=1

(@) 33MR9,+3MRx (b) 33MRs,-3MR+
3and9, +andx 3and5,-and +

(c) 339+ 3R+ (d) 13 3R 27, + 3R x
3and9, +and+ 13 and 27, + and x

59. < foU T Uy # IR HYF MR ISP 91 &) e faw
T g1 AMUP! AW T Y= B GG AT §, HA &1 I
gdgTa 9t | fis uedta gia 861 fAosl &t ufew eiR
fFrutfya Fifcme & far e fAasesf & § w=-a1 fAeed
T &9 J F1d aal B dga-r &ed gu feu U
YA BT AMSS U A STHR0 HaT ¢l
DYH:

WWStones, sandstone?l
P S marbles, sandstone %'I
Wmarble, graphite?l

It slate, stone%l

8 aﬁ‘{ sandstone, graphite q't»&%l

Il. PO stones ® marbles sﬁaﬁmm %I

In the question given below, four statements are given
followed by two conclusions. You have to take the given
statements to be true even if they seem to be at variance
from commonly known facts. Read the conclusions and
decide which of the given conclusions logically follows from
the given statements disregarding the commonly known
facts.

Statements:

Only a few stones are sandstone.

Some marbles are sandstone.

Only marble are graphite.

All slate are stone.

Conclusions:

I. No sandstone is graphite.

Il. Some stones are marbles is a possibility.

(@)

(©)

60.

(@)
(©)

61.

FIA | FTRUBATE  (b) HIW Il IR HAT §

Only I follows Only Il follows

| R 1 T SRV IR (d) IS TRV TSI B §

% Both | and Il follows None follows

False', 'Deceptive' ¥ Hafta %, It d¥g 'Elation’,
ENPS %I

'False' is related to 'Deceptive’ in the same way 'Elation’ is
related to

Affliction (b) Delight
Menace (d) Woe

Frafafea &9 #1930 snefa A o & oRiT 32

Which among the following figures is odd from the rest?

%% B ‘%,' ﬁa

(@)
(©

62.

(@)
(©

63.

(@)
(©

i A\ | | =85
(1) (1) (111) (1v)
v ®) 1
I O
fFrafafEd vy § IR srpfaat € Tt §1 v 7 Sisaw

3= gt enpfadl # $9 7 $© AT g1 AT
3T 1A BT

Four figures are given in the following question. All figures
have something in common except one. Find the odd figure

s

) (1) (n) (v)
[ (b) 1l
[ (d v

e fAifda tet A anepfa A, el B 9 wafta 81 w0=
Yef BT TRV Hd §U P ¢, 3P p | Hafda
21 e &1 rvam Fifvrw 3R 39 pfa &1 T4
PIFTE oA p & RITH UR @71 ST I1fe T

Figure A is related to Figure B in a certain pattern. Following
the same pattern figure C is related to figure D. Study the
pattern and select the figure which should be placed in

place of D.
i H2UD£ .. \ﬂ\ T
GATE DOWN
(A) (B) (€ (D)
EMXN EXMN ENXM ENXM
(1) (11) (1) (Iv)
I (b) 1
Il (d) v
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64.

@ a
©

65.

@
©

66.

Ife yd® gu axgeil/farl & te oif &t qxfar @, @
frafafea 79 g gafd grsw ampfa P ga
If each circle represents a class of objects/ideas then find
out the answer figure which illustrates the relationship
among the following:

"Vegetables, Orange, Carrot"

09 @
O
(c) @ (d) O O O

©) b
c ) d

TP T Srpfa $T 99 BT & g8 g€ HRA &I
m%mﬁaﬁwmm%qﬁw$
fpecan aex @l
Choose a figure which would most closely resemble the
unfolded form of the last figure which shows the manner in
which the folded paper has been cut.

]

’ S

‘

:?:I Pd B N P ¥ =~
== 3| o || c3
N Z D Pctn S 2N

| () I

I (d) v

U U B &1 SreT-3rerT fRuferat gxifdt w8 €, foras
TE BAPI R @, #, $, %, & 3R | g sifera fope A 1
39 1% &1 94 PN & & [KIF $ i 99 vae
F faudia wae w i

Two different positions of the same dice are shown, the six
faces of which are marked as @, #, $, %, & and !. Select the
number that will be on the face opposite to the one
showing '&'.

() # (b) !
(c) % (d e
67. @Sl & favy g &1 U P

(FA1e: HEmeHf B 37 gew il A fautforg g fomm
gt Semsi W Afpart $1 et @iiel Iareru & firg
31 - 31 W WUTHAE S 31 F SS1/49eHIAN HIAT
e fopar s war 3131 1 3 3R 1 A Al iR fhe 3
3R 1 R fvrda <t w= #t srgafa g 21)

Select the odd group of numbers.

(NOTE: Operations should be performed on the whole
numbers, without breaking down the numbers into their
constituent digits. E.g. 31 - Operations on 31 such as
adding/subtracting/multiplying etc. to 31 <can be
performed. Breaking down 31 into 3 and 1 and then
performing mathematical operations on 3 and 1 is NOT
allowed.)

(@)
(©

68.

(@)
(©

69.

(@)
(©

70.

(@)
(©)

71.

(@)
(©

72.

(7,5, 49)
(29, 27, 729)

for M e § @ I Pl FT g HIRW W
FrafafEa @ 9 uy fF (2) S ufownfia w3 Jadt
]

Select the figure from among the given options that can
replace the question mark (?) in the following series.

NEREENEEE
¢ PO v ?
ot > @

(b) (11,9, 81)
(d) (15, 13, 169)

& D L -
&0 % |
<3G

(N (11) (‘Ill) (Iv)
[ (b) 1l
I (d v

TS A3 ds HTOT # "JUSTIFY" BT "IKTVRTSUHIEGXZ"
F U # HIfa frar Smar 8, @ "Premier” P fH
TSR Hifsd frar smem?

In a certain code language "JUSTIFY" is written as
"IKTVRTSUHJEGXZ", then how will "PREMIER" be written
as?
ODQSDFLMHIDFQS
OQQSDFLNHIDFQS

39 faweu smpfa &1 wuq &% ot & 18 oo ®
gfafea ® 1 (gu &Y srgafa T R)

Select the option figure that is embedded in the given
figure. (Rotation is not allowed)

(b) OQQSDFLNKIDGQS
(d) OQQSDFMNHJEFRS

<

ﬁ%ﬁ?ﬁ

(111 (1v)

| ®) 1
I (d) v

U HISd HTHT H, NEWFOUNDLAND 1 FUSOAPFXHCFX
¥ ¥q # Hifed fear a1 81 unpone F RIT P &
ghm?

In a coded language, NEWFOUNDLAND is coded as
FUSOAPFXHCFX . Then what will be the code for UNDONE?
PAXFUF (b) FAXPOF

HCAXUF (d) PFXAFU

I fapea anpfa &1 79+ 33 o) &t 15 vy npfa A
afafed 81 @ezm &t srgafa e )

Select the option figure which is embedded in the given
question figure. (rotation is not allowed

Mob. - 01141676717,9312712114
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ERIERN

(1) (1) (11) (1v)

@ 1 ()
() m (d) v

73. feu e faweul o & 39 W@ &1 99+ & ol Fafarad
e # vy g (2) B wfoiid & aodl g1
9,29,67,129, ?, 349
Select the number from among the given options that can
replace the question mark (?) in the following series.

9,29, 67,129, ?,349
(@) 242 (b) 185
(c) 221 (d) 178

74. R U faedl & @ 39 HBI &1 g9 FiC AN
Frafafaa saa & vy fug (2) &1 ufowurfta w1 gt
2l
18, 19, 40, 123, ?
Select the number from among the given options that can
replace the question mark (?) in the following series.
18, 19, 40, 123, ?

(a) 368 (b) 428

(c) 496 (d) 504

75. 3Mpfa A T FAfda tef o 8 A Waifta 81 3 Fed &1
SIERUT Ha U, MPfa ¢, b A Wafda g1 Yet &1
YT B 3N I ATHIA BT 79 B ™A p & =~
TR YT 91 91T
Figure A is related to B in a certain pattern. Following the
same pattern, figure C is related to D. Study the pattern and
select the figure which should be placed in place of D.

@ | () 1l
(c) m (d) v

[ Numerical Ability }

76. T®H 20 cm x 16 cm TATH dTalt ATAATHR e &t Tt

YoT13i & TR 3R TH 20 mm BT STSI ITAT AT R 1 TS
3P DA 9IS & 1Y 30 mm PT TP 3 dis 91T
ST, qt 2fie &1 fra ufawa dawa Ay gare?
A 20 mm border is made around all sides of a rectangular
sheet of dimensions 20 cm x 16 cm. What percentage area
of the sheet remain left if another border of 30 mm is made
along its previous border?

(@) 12.5% (b) 23.33%

(c) 15.25% (d) 18.75%
77. (0.5)%- (0.05)* + (0.005)* T A fha-T 82
What is the value of (0.5)* - (0.05)” + (0.005)*?

(@) 0.25 (b) 0.247525
(c) 0.24825 (d) 0.252525

78. 5t wden & SR-YRRHT I T A F 916, LR m
& 3PI T UM 40% AR 25% Pt S T § TP N
ERTUTW 3BT & 20% Pt FH A 813} L, m R NERT
WIS 31 BT AT 3UTd UM 7: 4: 5 §I ATl 7, @
I eI Sl BT YRS SruTd fha=im ur
After rechecking of exam sheets, marks of L and M are
increased by 40% and 25% respectively while marks
obtained by N are decreased by 20%. If the new ratio of
marks obtained by L, M and N becomes 7: 4: 5 respectively,
then what was the initial ratio of their respective marks?

(a) 100: 64: 125 (b) 80:64:75

(c) 50:25:16 (d) 8:5:4

79. T AfRs.2s it Ftglaasarg siRpa .29 o
IR=IATe fig a9 au e Joar 3 IR RR Ta d a8
e isfriistigh Pl TR ITa eI RIS
T A Afad gRT 25.2 foolt Bt gt &1 7a == | foran
T Y a2
A person can row a distance of 5.25 km and return back to
starting point in a total of 1.2 hours and he can cover 1.8
km in still water in 12 minutes. How much time the person
takes to cover 25.2 km in downstream?

(a) 1.2'9cTT1.2 hours (b) 2.4€<T 2.4 hours
(c) 3.69<T3.6hours (d) 2.8€cT2.8 hours
80. Hgih BIfFOIT:

Evaluate:

1 1 1
+ +
a(35-21b)+15b-25 a(21b-49a +35)- 150 a(21b - 35) + b(15 - 9b)

(@ 1 (b) 0
©) -2 @ -1

81. A, B3N c F afuH g T N 32 98 31 3 Tf UgdA A
Bt Y, 2 T UgA B B MY 3N 6 TH UG ¢ B 3R BT
SJUTA SFH: 4: 8: 5 8 | ¢ P IAU 1Y I HIRTYI
The average of present ages of A, B, and C is 32 years. Age
of A 3 years ago, that of B 2 years ago, and that of C 6 years
ago are in the ratio 4: 8: 5 respectively. Find the present age
of C.

(@ 16 ¥ 16 years
(c) 26 ¥ 26 years

(b) 21 T 21 years
(d) 31 ¥ 31 years

82. T 300 BT (25 + q)% BT p% = 200 BT 18% & TYUT 40 BT
180% T q% = 50 BT 36% &, T (p - q) BT A fPa-Ta?
If p% of (25 + q)% of 300 = 18% of 200 and q% of 180% of 40
=36% of 50, then what is the value of (p - q)?

(@ 1 () -1

(c) 3 (d) -3

Mob. - 01141676717,9312712114
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83. &t 3R fiFet & 5 You BT SIUTA HHTT: 36 : 25 B AYT
&Y 3R fpeT & fasha ga o1 SguTd HURM: 48 : 25 1
i A B ITA F 28% BT ATH 34T 3R A I ITA QA
3750 3. BT JHAM g3, A TH A1y It 3R fiber &1
P g Yo fopa-T 82
The ratio of cost price of a TV and a fridge is 36: 25
respectively and the ratio of selling price of the TV and
fridge is 48: 25 respectively. If 28% profit earned by selling
TV and Rs. 3750 loss occurred by selling the fridge, then
what is the total cost price of the TV and fridge together?

(@) 2188403, Rs. 218840 (b) 228750%. Rs. 228750
(c) 2247509, Rs. 224750 (d) 236750%. Rs. 236750

84. U S GIUET | 160 km/h DI AT F AWRTF 12 : 08 Fof
TAT [E Bl § 3R TP 12 km DI g T FHA &
a1 10 fiFe & fog st B, ot 98 v amg w
AT faig & 480 km gR B
A bus started running at 12:08 pm in the afternoon at a
speed of 160 km/h and it halts for 10 minutes after
travelling every 12 km, then at what time it will be 480 km
away from starting point?

(a) SIURTE 8:48 8:48 pm (b) S{URTE 10:12 10:12 pm
(c) SIURTE 9:38 9:38 pm (d) 37URTE 9:08 9:08 pm

85. TS fashar WG TE aRgail o1 BN & YR W Fe
UG Hdl 81 98 5 ¢ Tile W 10% Pt e 3R 8
TGE W R 12.5% B! Fe YaH Hal g1 afe a8
TS ATHA W HHH ATY HHTAT B, @ a¥g & Sifhd gea
3R Y U e BT UG 8-

A seller offers discounts on the basis of the number of
articles purchased. He gives a discount of 10% when 5
articles are bought and a discount of 12.5%, when 8 articles
are bought. If the profit he makes in each case is the same,
then the ratio of the marked price to the cost price of the

article is:
(@ 4:3 (b) 3:4
(c) 6:5 (d) 5:6

86. TP JaTPR AGH & IRI 3R I8 911 B! AN 13.5
I Ui Pe Pt R A 7425 I ¢ JABR ASH B
ATPd FT8?

The cost of building a fence around a circular field is Rs 7425
at the rate of Rs 13.5 per foot. What is the area of the
circular field?

(a) 24062.5 T BT 24062.5  (b) 23864.4 T T 23864.4

sq.ft sq.ft.
(c) 246445 T BT 24644.5  (d) 25018.5 T e 25018.5
sq.ft. sq.ft

87. ufe faenRiaY &Y e fAf3a T areh ver e # 50 kg
YR 91 T -1 faemf o) awafera fosan wirar 8, aY wan
F 3T UR | 1 kg P gIF Bt 81 T 50 kg YR TR
e = faandt & awmfea fear wiran 8, ot wam &
3RIT YR, Gl 3T YR 1.5 kg 3ITUD B STa1 8 | H&dT
BT YA T YR (kg F) fraar 82
In a class with a certain number of students if one new
student weighing 50 kg is added, then average weight of
class is increased by 1 kg. If one more student weighing 50
kg is added, then the average weight of the class increases

Mob. - 01141676717,9312712114

(@)
(©)

88.

(@)
(©)

89.

(@)
©

90.

(@)
(©

91.

(@)
(©)

92.

(@)
(©)

93.
(@)

(©)

by 1.5 kg over the original average. What is the original
average weight (in kg) of the class?
46 (b) 42
27 (d) 47

PIS YRR Tehgfes saTol WX 2 T A . 1612.8 3R 3 auf
. 1713.6 B STl ¢ | ST B &3 FTd DI

A sum of money put out at compound interest amounts in 2
years to Rs.1612.8 and in 3 years to Rs.1713.6. Find the rate
of interest.

6% (b) 7%
5.25% (d) 6.25%

e ax*- ko + 5x - 20, (x-4) q fawnfora %, ar qg 3R
fraa faurfora gme

If 4x*- ki + 5x - 20 is divisible by (x-4), then it is also
divisible by

4x3+5 (b) 4x>-5

4x’+5 (d) 4x-5

A f5eft w1t &Y (x+10) fo & F% Tpar @ wiafe s U=
®d B x A & B FPar 1 A, ¢ B g F QAT
P I 71 afS ¢ 0 & Hi 34 3 & H= AHar
? U1 A B B Prdermar, 1 B R B | A gRI forg
T HY & IR & o Fd SR J1d BT 2

A can do some work in (x+10) days while B can do it in x
days. A is two times efficient as that of C. If C can do the
same work in 34 days, then find the total work if efficiency
of B is equal to time taken by A to complete the work?

119 3HTZTT 119 units (b) 123 IHIZAT 123 units
124 3HTSTT 124 units (d) 118 IHIZAT 118 units

[ Computer Awareness }

A is the conceptual design and fundamental
operational structure of a computer system.

e Hger Ry @) daile fewmgT ik
e ufaras IRaT?-

computer organisation (b) component design

computer working (d) computer architecture
Which of the following provides internal W storage to the
CPU?

?ﬁﬁﬁaﬁﬂ@ﬂ@ﬂ.ﬂgaﬁe’nﬂﬁmmmm

Register (b) Register and RAM

RAM (d) Hard disk

What is the fullform of CPU ?

CPU T JUI 7 9T 82

Central Processing (b) Central Performance
Unit/Scd YRR gfe Unit/8¢d IRBRAY G-
Common Performance (d) Common Processing
Unit/&THT IRBRHAY - Unit/&1H- TRERIT gfe

afre
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94.

@

(©

95.

@
(©

96.

@

©

97.

@
©

98.

@
(©

929.

@
(©

100.

@

Which of the following components of CPU responsible to
direct the system to execute instructions?

fFafaf@a & @ cpu &1 P91 ed Rew o @i

Eﬁmmﬁéﬁ%mﬁﬁm%’

Arithmetic and Logic Unit  (b) Control Unit (CU)/@Idl

(ALU) - 3fAfee 3R e (cu)

oI T< (ALU)

Registers/ﬁw (d) Random Access Memory
(RAM)/ YUSH TG HHRT
(RAM)

Accumulator is an integral component of

TRHACY BT TP T Ueh &

cPu/AT T, (b) Hard Disk/8TS &P
RAM/?TT (d) Cache memory/av_‘\"[ﬂ'ﬁﬁﬂ
The size of a word in computer is

P N TP eg T PR AT

fixed in a computer, but (b) varies within the same
varies among different computer@ﬁmﬁ
computers T HIER i g g |

fAfya g, afes faftrar

SR b I A BT S

fixed in every case/@X (d) None of these/ﬂqﬁﬁﬁg
T | g Tl

The four basic tasks performed by CPU are Fetch, ,

Manipulate and Output:

CPU GRT JHTied fhd & I 9R &1d HH: UIe
BT, PIA-IRGdT Td IedTeT (TRUITH) UeH
P

Design/dhedl (b) Decode/TUY BT
Display/m (d) Regulate/T[CIC
.port is used to connect digital camcorders,

external hard drives and other devices that can benefit
from the high transfer rates. It can also be used to connect
two computers to transfer files.

YT 3= T ol Bt I FEATAROT &3 A ATHIId &)
Tbdl g, B FOId H1 & o wisal &) gxaiaror
HH og M ygaa glar g |

Serial/90T (b) Parallel/FHMIAR
Infrared/m (d) FireWire/TPTOR-dIUR
Which of the following is not a valid unit to represent the

speed of CPU?
ﬁpaﬁﬁaﬁﬁﬁq-w%ﬁwHuW) cpu @1 Tfa &Y
T8 gtar 81

Hertz (Hz)/@¢ql (b) Mips/freg
MFLOPS/HUITSH (d) Byte/dIgC
Program counter (PC) register is an integral 10 part of :

WRITH $1dex (W ) IoRer ve arfvard urm
Hard Disk/8TS fS®B T (b) RAMH BT

(c) Cachememory/%QTﬂTﬁﬂ (d) CPU/?ﬁtmj\a?—[
3|
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